Crosley CW5000W 05 - CONTROL PANEL

Crosley Residential Crosley CW5000W Washer Parts Parts Diagram 05 - CONTROL PANEL
Click on the part number to view part

1 21001550 Panel, Control

2 25.3092 90767 Screw, 8A X 3/8 HeX Washer
- Head Tapping

" 21001546 Endcap, Panel

3 21001547 Endcap, Panel

Screw, 8A X 3/8 HeX Washer

" 25-3092 20767 Head Tapping

4 25-7851 Speedclip, End Cap To Top

5 21001882 Switch, Pressure

" 21001554 Switch, Water Level

" 25.3092 90767 ag;edw_i_ ::; i);gS/S HeX Washer
6 21001520 Skirt, Timer Knob

7 21001526 Knob, Timer

8 21001553 Frame

9 25.3092 90767 Screw, 8A X 3/8 HeX Washer

— Head Tapping
" 25-3457 Screw, Sems


http://www.pwslaundry.com/c-511986-residential-crosley-cw5000w-washer-parts-for-repair-service
http://www.pwslaundry.com/i-10428379-crosley-21001550-washer-panel-control.html
http://www.pwslaundry.com/i-10431785-crosley-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html
http://www.pwslaundry.com/i-10429856-crosley-21001546-washer-dryer-endcap-panel.html
http://www.pwslaundry.com/i-10429860-crosley-21001547-washer-dryer-endcap-panel.html
http://www.pwslaundry.com/i-10431785-crosley-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html
http://www.pwslaundry.com/i-10429455-crosley-25-7851-washer-dryer-speedclip-end-cap-to-top.html
http://www.pwslaundry.com/i-10430036-crosley-21001882-washer-switch-pressure.html
http://www.pwslaundry.com/i-10429867-crosley-21001554-washer-switch-water-level.html
http://www.pwslaundry.com/i-10431785-crosley-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html
http://www.pwslaundry.com/i-10429871-crosley-21001520-washer-skirt-timer-knob.html
http://www.pwslaundry.com/i-10429875-crosley-21001526-washer-knob-timer.html
http://www.pwslaundry.com/i-10428380-crosley-21001553-washer-frame.html
http://www.pwslaundry.com/i-10431785-crosley-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html
http://www.pwslaundry.com/i-10429472-crosley-25-3457-washer-dryer-screw-sems.html

" 25-7853 25-7933 Ring, Retaining

Screw, 8A X 3/8 HeX Washer

10 25-3092 90767 Head Tapping

11 21001544 Knob, Selector

" 31001193 Pad, Shield

MANUAL, USE & CARE

NI 21001725 Not Available (SPAN)


http://www.pwslaundry.com/i-10429745-crosley-25-7933-washer-dryer-ring-retaining.html
http://www.pwslaundry.com/i-10429883-crosley-21001527-washer-dryer-shield-rear.html
http://www.pwslaundry.com/i-10431785-crosley-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html
http://www.pwslaundry.com/i-10430011-crosley-21001545-washer-timer.html
http://www.pwslaundry.com/i-10429889-crosley-21001544-washer-dryer-knob-selector.html
http://www.pwslaundry.com/i-10429897-crosley-21001517-washer-dryer-shield-control.html
http://www.pwslaundry.com/i-10429893-crosley-31001193-washer-dryer-pad-shield.html
http://www.pwslaundry.com/i-10429893-crosley-31001193-washer-dryer-pad-shield.html

	Crosley CW5000W 05 - CONTROL PANEL

